SOL HW 3.7

June 11, 2018 9:45 PM

Name: L(%’(}/h Date:

Section 3.7 Trigonometric Proofs

sin” @+cos’ =1 1+cot’ @=csc’ 8 tan’ @+1=sec’ 6 cos 28 =cos” @—sin’ @
sin(a—b)=sinacosh—sinbcosa cos(a+b)=cosacosh-sinbsina cos20=1-2sin’ @
sin(a+b)=sinacosh+sinbcosa cos(a—b)=cosacosh+sinbsina c0s26 =2cos’ -1

sin 26 =2sinf cos @

1. Write each of the following as a single trigonometric function:

M2 I eegt X _TeintE — 17
a) 25111—(:05— = S ) b) sin” S —cos” 5 = Con—TT. c) 1-2sin" § > )
3 3
2 -2 :
d) l+cot? X _\ €) Cos" T—SIN" T = (o220 f) sinfcos 4 ;i (smla
3 7 S
2. Simplify the following trigonometric expressions in terms of sine and cosine
a) cot’ xsin® x+cos’ x b) cot x + tan x
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3. Prove each of the following identities algebraically:

a)(sec@—tan @) (sin & +1) = cos &

b) tan x +cot x = sec x(cscx)

6&‘; = t‘;‘\b(&@‘ﬂ\)
(\- Stms( S‘(\.‘s—\'\\

S L e
s G

S S\ + e
: - - oS s e
- \ - Swa —5‘4
"—-‘_s— :—J—
[adad Swad < SonS
= = sw®» =\ a
= ()
oW
= > = e
1 cos 2x +sin” x ~ cosx+cotx
c) —cotx=—+-—"— d) cotx =————
2 sin 2x I+sinx

Cn2ZX A—uwx
Stz
= L= 2sm®x i
2 svam Lo K

L= S

2 St ® LK
= Cowx. wé
PARIUNS'S ;2»,(

Cosx 4+ O

=

Stax

\ At

6,‘,\ = -L-«_so()
S

[T

La—iax

= (‘4’\7‘ (‘S\J\AB ;

Tt

= L X
\ S
= 7wt “n
= coboe
e) sec’ x _ sec’ x —secxtanx f]+s.e(:)c_l+(>05)r
l+sinx cos’ x secx—1 l-cosx

= Secdx

(41w 7

R s (=t
=
[N
N sim (—:\%Liﬂ
vtk _—us‘r (’__\:‘__ %
e (S conx )
s (o QTS
—_— Co>ex £
(“‘“’“"YM\ \’,_‘“x_//

Ch 3 HW Page 2




4.

Prove each of the following identities algebraically:

a)l+sin2x =(sin.vc+cosx)2

b) sin2x = 2c0tx(sin2 x)
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